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L.et X be the set of all citizens of India.

Elements x, y in X are said to be related

if the difference of their age is 5 years,

Which one of the following 15 correct 7

(a) The relation is an equivalence relation
on X.

(b) The relation is symmetric but neither
reflexive nor transitive.

The relation is reflexive but neither
symmetric nor transitive.

(d) None of the above

Consider the following relations from A
to B where A = {u, v, w, X, v, 2} and
B=ip. Q.0 54.

Lo {(w p), (v, p) (W0 P)y (X% Q) (3% @ (2 Q)
2. {(w, p) (v, q), (w. 1), (2, s)}

3. {(w s) (v.r) (W q) (u p) (v q) (2 q))
4 [(u, Q) (v, pho(W sk (X, 1), (%, ), (2 80
Which of the above relations are mof
functions 7

(a) 1 and 2

) 1 and 4

(¢) 2and 3

(d) 3 and 4

If o and P are the roots of the equation
ax! + bx + ¢ = 0, wherg == 0, then
(ace + b) (af + b) 15 équal Yo :

(a) ab

(b) be
(c) ca
(d) abc

Let Sidenote set of all integers. Define a

relation R on S as *aRb if ab = U where

a4 b'e S°. Then R is : '

(a) Reflexive but neither symmetric nor
transitive relation

Reflexive, symmetric but not
transitive relation

(¢} An equivalence relation
(d) Symmetric but neither reflexive nor
transitive relation
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0.

The roots of the equation 2a'x’ - 2abx + b* =0
whena< 0 and b = 0 are :
“Sometimes complex -
Always irrational
(¢) Always complex
(d}y Always real

What 15 the sum of the two numbers
(11110), and (1010), ?

(a) (101000),

(b) (110000),

(¢) (100100),

(d) (101100)

Let Nedenote the set of all non-negative
integers and Z denote the set of all integers.
The function f : Z — N given by
x| x | s :

(o) One-one bul not onto

(b) ©Onto but not one-one

(¢) Both one-one and onto

(d) Neither one-one nor onto

If P and Q are two complex numbers,

then the modulus of the quotient of P and

Qis:

(a) Greater than the quoticnt of their
moduli

((-h'l'"l:-:}::‘:ﬂ than the quotient of their moduli

{¢) Less than or equal to the quotient of
their moduli

(d) Equal to the quotient of their moduli

Let z= x + 1y where X, y are real variables
and i=v-1.1f|2z-1]=]z - 2|, then
the point z describes :

{a) A circle

(b) An ellipse

(¢) A hyperbola

(d) A parabola

(Contd.)



10.

11.

1.2.

13,

WWW. sakshleducatlon m

The sum of an infinite GP 15 X and the t i5 the mean of the squares of the
common ratio r is such that [ r | < L. If first 20 patural numbers ?
the first term of the GI 15 2, then which 151.5
one of the following is correct ? (b) 143.5
(a) -1 <x<l (c) 635
(b) —w<c<x<1 (d) 72
bt 15. p, q,r,s,tare five numbers such that the
(d) None of the above average of p, q and r is 5 and. that of s
i . and t is 10. What is the avérage of all the
A box contains 3 white and 2 black balls. fhi A B
Two balls are drawn at random one after @ 7.75
the other. If the balls arc not replaced, (b) ‘?. 5
what is the probability that both the balls © TI
are black ? @ 5
(a) 2/5
(b) 16. The camulative frequency of the largest
(c) 1/10 observed value must always be :
(d) None of the above (d) ‘Liess than the total number of
observations
For two variables x and y, the two (b) Greater than the total number of
regressian coefficients are h = -3/2 and © observations % |
b, = -1/6. The correlation coefficiént (c) Equal to total number of obscrvations
h::lwm:n x and y is : (d) Equal to mid point of the last class
(a) -1/4 interval
(&) 1/4 17. It has been found that if A and B play a
‘Lﬂ)"—”z game 12 times, A wins 6 times, B wins
d 12 4 times and they draw twice. A and B
take part in a series of 3 games. The
The variance of numbers X, X,. X, coo X, probability that they win alternately, 1s
is V. Consider the [ollowing statements : (a) /12
1. If every x is increased by 2, the (b) 5/36
variance of the new sct of numbers ey 19127
ig\V. (d) 5727
& t.he nun'!bers : S Eq.umid’ e 18, Outof 7 consonants and 4 vowels, words
variance of the new set 15 V™. are to be formed by involving 3 consonants
Which of the following statements is/are and 2 vowels. The number of such words
correct ? formed is :
(a) 1 only (a) 25200
(b) 2 only (b} 22500
Both 1 and 2 (c) 10080
(d) Neither 1 nor 2 WWW. saksmeducatlon‘lli%mlm‘ﬂI
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19. Let X denote the number %V%Wﬁkgﬂ}é%ucati

20.

21.

exceed 4 in 18 tosses of a symmetrical
die. Consider the following statements |
1. The arithmetic mean of X is 6.

2. The standard deviation of X is 2.

Which of the above statements isfare
correct 7

{a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Meither 1 nor 2

How many different words can be formed
by taking four letters out of the letters of
the word ‘AGAIN’ if each word has 10
start with A 7
(a) 6
(k) 12

24
(d) None of the above

The sum of the series formed by the
sequence 3, 43, 1 ... UpLo infinity s

W33 +1)
) 2

(a

®) e NE] {f -1)

1
© Hd’i *1)

gy 220 ”ﬁ;”

22. If i|-.|z-i1.ﬁlenﬂwlucusufzis:
) A pair of straight lines
(b) A line

(¢} A set of four straight lines
(d) A circle
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23.

The number 251 in decimal system is

ON.COMpressed in binary system by :

24.

25,

26.

(a) 11110111
(b) 11111011
(¢) 11111101
(d 11111110

What is the argument of the complex

number (1+§I{%+i} where i=+-1 7
—i
(a) O

T
® 3

T
(€) "

L

G

Congider the following statements in respect

O R i
of the matrix A=| =1 0 -3
23 0

1. The matrix A is skew-symmetric.
2. The matrix A 15 symmetric,
3. The matrix A is invertible.

Which of the above statements is/are
correct 7

(a) 1 only

(b) 3 only

(c¢) 1 and 3
2 and 3

1
Consider two matrices A=| 2 and
1

E_i:
I [ T

following is correct 7
(a) B is the right inverse of A

.
i
l-

- |
__4]. Which one of the

,,Eb‘r B is the left inverse of A

(¢) B is the both sided inverse of A

(1) None of the above
(Contd.)
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27. One of the roots of

x+a b ¢
a x+b ¢ |m0is:
a b x+c

(a) abc

) a+b+ec

() —(a+b+c)

(d) —abc

28. If A is any matrix, then the product AA is
defined only when A is a mairix of order
m * n where :

(a) m=>n
(b) m<n

ey m=n

(d) m=n

20. The determinant of an odd order skew
symmetric matrix 1s always :
(a) Zero
(b)Y Onc
(¢) Negative
(d} Depends on the matrix

30. If any two adjacent rows or columns of a
determinant are interchanged in position,
the value of the determinant :

(a) Deccomes zero

Remains the same
(¢) Changes flg-sign
(d) Is doubled

For the nextthree (03) items that follow :

In a survey of 25 students, it was found that
15 had taken Mathematics, 12 had taken Physics
and 11 had taken Chemistry, 5 had taken
Mathematics and Chemistry, 9 had taken
Mathematics and Physics, 4 had taken Physics
and Chemistry and 3 had taken all the three
subjects.

31. The number of students who had taken

only Physics is :

32, The number of students who had taken
only two subjects 15 |
(@) 7
(b) 8
(c) 9
10

131. Consider the following statements :

. The number of studenmts who had
taken only one-subject is equal to
the number of students who had taken
only two subjeécts.

9 The mumber of students who had
taken at least two subjects is four
times the number of students who
had taken all the three subjects.

Which of the above statements is/are
correct 7

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

For the next three (03) items that follow :

1 n
In the expansion of [11 -—';_7] where n is a
X

positive integer, the sum of the cocfficients of
x* and x" is 0.
34. What is n equal to 7

(a) 5

(b) 10

(c) 13

(d) None of the above

35. What is the value of the independent term 7

i 5005

E;T; § (B) 7200
© S (c) —5005
6 www.sakshieducation.comid} T
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36.

What is the sum of the m%ﬁﬁé?ﬂﬁgucatw .'C%at is the value of cos 36° 7

two middle terms 7

(a) 0

(b) 1

(¢) -1

(d) None of the above

For the next three (03) items that follow :
Giv:nﬂml'.'.‘.{n.r}:'l:{n.r+1}=*l:Enm:l
Cin,r+1):Cn,r+2)=2:3

37.

38,

39.

40,

What is n equal to ?
(a) 11
(b) 12
(¢) 13
(d) 14

What is r equal to ?
2

(b) 3

(c) 4

(d) 35

What is P(n, r) : C(n, r) equal to ?
(a) 6

(h) 24

(c) 120

(d) 720

The complete solution of 3 tan’x = 1 is
given by

(a) :I-l=llﬂ:|:1_;;

X=NN+ “— nn]:,r
(b) ;

T
=nxi-—
(¢) x=nm .

(d) x=nn +% only

where n € £

5+1
4
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J5-1
4

(a)

s,llh‘.]-i- 235

4

10-2+5
4

(c)

(d)

42. Consider the following statements :

1. + Valuewof sin © oscillates between —1
and 1.

3% Value of cos 0 oscillates between 0
and 1.

Which of the above statements is/are

correct 7

(a) 1 only
2 only

f¢) Both 1 and 2

(d) Weither | nor 2

43. If x and y are positive and xy > 1, then

what is tan” x + tan” y equal to 7

(Contd.)



45.

16.

Consider the following stawwsakshieducationt@onfConsider the following statements :

1¢ 1¢
1. nlsin ﬁ'?-f —sin® HE =] for

all positive integers n 2 2.
2. Ifx is any positive real number, then
nx > 1 for all positive integers n = 2.
Which of the above statements is/are
correct 7
(a) 1 only
(b) 2 only
(¢) Both 1 and 2
(d) Neither 1 nor 2

Consider the following statements :

1. If 38 is an acute angle such that
sin 30 = cos 20, then the measurement

of 0 in radian equals to ’:]

2. One radian is the angle subtended at
the centre of a circle by an arc-of the
same circle whose length is equal to
the diameter of that eircle,

Which of the above statements i1s/are

correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Froman aeroplane above a straight road
the angles of depression of two positions

at a distance 20 m apart on the road are

observed to be 30° and 45°. The height of
the acroplane above the ground is :

() 1043 m
(b) 10(+3-1) m

(c) 10(3+1) m
20 m

www.sakshieducatign.com
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48.

4.

50.

1. There exists no triangle ABC for
which sin A + sin B = sin C.

2, If the angles of a triangle are in the
ratio 1 : 2 : 3, then its sides will be

in the ratio 1: 3 : 2,
Which of the above statements is/are
correct 7
(a) 1 only
(b) 2 only
(¢) Both 1 and.2

Meiﬂ:ﬁr 1 nor 2

Consider the following statements :

b “%in | x |+ cos | x | is always positive,
2. sin(x?) + cos(x?) is always positive.
Which of the above statements is/ar¢
correct ?

(a) 1 only

(b) 2 only

(c) Doth 1 and 2

(d) Neither 1 nor 2

~ l+sinA 1-smA
What 12 ]-Eiﬂﬂ_]-ivsirlﬁu
(a) sec A —tan A
(b) 2 sec A.tan A
(c) 4£3¢¢A.tu.nﬁ

equal o ?

_,‘__(dj"i coscc A . cot A

cot 224" - cot 134"

What is e+ cot3ler U 07
—cosec 88"
(b) —cosec 2°
(¢) —cosec 44°
(d) —cosec 46°
(Contd.)



51. Consider the following SY{MEM ¥ shieducati

52.

53,

54.

35.

1. tan™ 1 + tan'(0.5) = n/2

2. sin™ (1/3) + cos (1/3) = =/2
Which of the above statements is/are
correct 7

(a) 1 only

(b} 2 only

(c) Both 1 and 2

(d) Neither | nor 2

If A+ B + C = = then what 15
cos(A + B) + cos C equal to ?
(a) U
(hy 2 cos C
(¢c) cos C-sinC
2 sin C

What is cos 20° + cos 100° + cos 1407
equal to ?

(a) 2

() 1

(c) 172

(dy 0

In

What is sin™' sin 5

equal to 7

()

w|§ o« |F

(b)

5
(d) None of the above

What is sin®(3n) + cosi(4r) + tan’(5m)

equal-to ?
pe

(b) 1
(e) 2
(d) 3

www.sakshieducatiolf!com

56.

Consider the following points :

on.com (g, §)

57.

38.

39,

2. (2,-1)

3. (3, -4)

Which of the above lie on the line 3x +y =35
and at a distance /10 from (1, 2) ?
(a) 1 only

(b) 2 only

(c) f,il and 2 only

}dj 1,2and 3

What is the equation of the linc tl-uuurgh
(1, 2) so that the segment qf th: line
intercepted between the axes is hisected
at this point ?

() 2x <y =4

(b) Zx=y+4=10

(g) Y+ y=4

(d)“2x +y+4=0

What is the cquation of straight Iin:: passing
through the point (4, 3) and making equal
intercepts on the coordinate axes 1

@ x+ty=7

(b) 3x+4y=7

() x-y=1

(d) None of the above

t is the equation of the line midway
I;Tt\:rcen th:ﬁ?nes 3x — 4y + 12 =0 and
x—4dy=67
(@) Ix-4y-9=0
(b) Ix -4y +9=0
(¢) Ix—4y-3=0
(d) 3x-4y+3-0

What is the sum of the major and m'irfnr
axes of the ellipse whose eccentricily
is 4/5 and length of latus rectum 1s
14.4 unit ?
(@) 32 umt
(b) 48 unit

64 unit
(d) MNone of the above

(Contd.)




For the next three (03) items shwifstidshieducatioReeoiive next three (03) items that follow :

A straight line passes through (1, -2, 3) and
perpendicular to the plane 2x + 3y -z = 7.
61. What are the direction ratios of normal

to plane ?

<2,3-1>

b) <2,3, 1>

(c) <-1,2,3>

(d) None of the above

62. Where does the line meet the plane ?
(2,3, -1)
b (1,2, 3)
(c) (2,1, 3)
(d) (3,1, 2)

63. What ig the image of the point (1, -2, 3)
in the plane 7
[ﬂ] [21- —|.. 5;'
(-1, 2, =3)
c) (5, 4, 1)
(d) Mone of the above

For the next two (02) items that follow :
Consider the spheres X* + Y + 2 <4y +3 =10
and x! + y2 + 28 + 2x + 4z —4 20.
64. What is the distance between the centres
of the two spheres.?
(a) 5 unit
(b) 4 unit
_e¥ 3 unit
(d) 2-unit

5. Consider the following statements
|, The two spheres intersect cach other.

9. The radius of first sphere is less than
that of second sphere.

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

www.sakshieducatipg.com
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The vertices of a triangle ABC are A(2, 3, 1),

B(-2, 2, 0) and C(0, 1, -1).

66. What is the cosine of angle ABC 7

1

e —TT

(a) 5

|
) 7

ps
© T

(d) None of the above

§7. What ig the area of the triangle 7
/m, 62 square unit
(b) +3./2 square unit
{€) 1043 squarc unit
(d) MNone of the above

68. What is the magnitude of the line joining
mid points of the sides AC and BC ?

1
(a) E‘ unil
(b) 1 unit

3 =
(c) E unit
(d) 2 umit

For the next two (02) items that follow :
Consider the vectors @=i-2j+k and
b=di-d4j+7k.

69. What is the scalar projection of @ on

b ?
o

(b) 199
(c) 17/9
(d) 23/9
(Contd.)
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70. What is the vector parptn\gm\lfl\iu: ulﬁm&l 74 What is the angle between (8+b) and
the vectors 7

o i @-b) ?
(a) -10i-3j+4k .
(b) —10i+3j+4dk @ 3
10 — 3] + 4k i 2
(d) MNonc of the above 3
For the next two (02) items that follow : (c) %
Let a vector T make angles 60°, 30° with x
and y-axes respectively. (d) None of the.above
71. What angle does T make with z-axas 7 w5 it ol b e (8, 551)
i:,; 2$ and (2/=3, 1). What are the direction ratios
(¢) 9p* of the line 7
{g)/llﬂ“ (a)><4,-4,2>
?E.J/What are the direction cosines of T 7 (b) <4,4,2>
‘J— (¢) < -4 4 2>
1 +3
(a) <§"1—' ) ) <2,1,1>
. 1 n_1
(h) (%--‘g@ 76. What is :!Tu { HS equal to 7
| (a) 0O
1
L ,E.> ® 1
o (7 o
V3 i n -
[d} '-l.i“ —1—1-

x

77. What is ::Tu T equal 1o ?

For the next two (02) items that follow :

Let |i|=7, |Bl=11, |i+B|=10+3 (a) 45.
73. What is |i—b| equal to ? (b) -2
(a) 2.2 @ 1
Mﬁ ﬁﬂt does not exist
(¢} 3
(d) 10 www.sakshieducatiog.com n—
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78. What is the derivative of T T §2. What is the solution of iﬁ!y:l

1 2x
-.m —
(a) sec”

(c) —cosec
(d) None of the above

tan :-:
79. What is j ——d"‘

I

equal to 7

{EE—I

x
(b) e4 +1
(¢) e—1
(d) e

80. What is the slope of the tangent to the
curve y = sin” (sin’ x) at x= 0 7
(a) 0
(b) 1
() 2
(d) None of the above

d
81. The solution of E}r=|xi ig :
x|x|

= — -I-Q;
(3=
B y=i+c

2

2

X
=—+C

(© ¥ 5

P 3

y/ y-%w

where ¢ 15 an arbitrary constant

www.sakshieducat'ﬁ.?.com

satisfying y(0) =0 ?

1 -t:'h

2

(a) y=

of y=lte

(€) y=1+¢

_1+e”
2

(d)

For the next two (02) items that follow :
Consider the curve y = e®.
£3,.. What is the slope of the tangent to the
curve at (0, 1) ?
(a) O
(b) 1
() 2
(d) 4

B4. Where does the tangent to the curve at
(0, 1) meet the x-axis 7
(a) (1.0
(b) (2, 0)
(-1/2, 0)
@) (72,0

For the next two (02) items that follow :

. 2

. 8 X
'CIJIIEJI‘.II:[ in l:'lhpsr_t --E- + —-E- =1
a b

B5. What is the area of the greatest rectangle
that can be inscribed in the ellipse 7

(a) ab

‘_ﬂ:}*’ﬂ ab

(c) ab/2
“ Jab

(Contd.)



86. What is the area incluM¥Visakghigdyeation@PMWhat is the value of L if the function is

ellipse and the greatest rectangle inscribed

in the cllipse 7

(a) abim—1)

(b) 2ab(x - 1)

(c) ah(r - 2)

(d) None of the above

For the next two (02) items that follow :

Consider the integrals

;
X Jsin x
'u*zjmﬁrﬂ"ﬂ' -Jﬁm‘h

87. What is [ - I, equal to ?
(a
) 21,
(€) =
(d) None of the above

88. What is 1, equal to ?
(a) w24
(b) /18

(c) 12
/:"'ﬁ

For the next two (02) items that follow :

l-sinx

Consider the function f(x)= 3
(m - 2x)

where ﬂ*g and f[%]ﬂu

89. What is I""F fix) equal to 7
X ==

2

(a) 1
(b) 172
(c) 1/4
(d) 1/8

. T
continuous at X=— 7

2
(a) 1/8
(b) 1/4
(c) 172

ol
91. If f(9) = 9 and 1(9) = 4 then what is

3
ﬁl}_a equal w0 7

lum
x—hﬁl_ =
({y/ 36
(o) 2
(c) 4
(d) (None of the above

92, “What is % sin x dx equal to 7

b e b

(a) O
(b)
(c) -2
(d) =

93. What is the general solution of the
differential equation x dy — y dx = y* 7
(a) x =cy
(b) y' = ex
S x+xy-cy=0
(d) Mone of the above
where ¢ is an arbitrary constant

64, Consider the following statements :

1. The function fu-:}-=1"; 15 continuous
at all x except at x = 0.

2. The function f{x) = [x] is continuous
al x = 2.99 where [.] is the bracket
function.

Whlch of the above statements is/arec
rrect 7
({ﬁ | only
(b} 2 only
(¢) Both 1 and 2
(d) Neither 1 nor 2

www.sakshieducatiﬁ].com (Contd.) |



95. (Consider the following 'statements |

1. The function f(x) = |
differentiable at x = 1.

9 The function f(x) = e is differentiable
at x = 0.

Which of the above statements is/are

correct 7

(a) 1 only
2 only

(c) Both 1 and 2

(d) MNeither 1 nor 2

96. If z=f o f{x) where f{x) = %%, then what

s 2 cqual to 7
I.!-dxﬂq

a4 1
(a) ¥ ?ﬁf- }’5’
((hj’/zn’ g < ;
(c) ¢
(d) 4x?

For the next two (02) items that follow.:

Consider the function f{x}uf: x
x4+
97. What is the maximum value'of the function ?
(a) 1/2
(b) 1/3
ey 2

(@ 3

98. mhhmmﬁhM?
) 12
(b) 1/3
(¢) 2
(d) 3

For the next three (03) items that follow :
xWYV\Q/jS?‘Iﬁhiethﬁn}dum function defined in 1 £ x < by

forlex=2

Ix—x forx>2.

f{x}={1-x !

99. Consider the following statements -
1. The function is continuous at every
point in the interval |1, 00).
2. The function is differentiable at x = 1.5.
Which of the above statements is/are
correct ?
(a) 1 only
(b)Y 2 only
(¢) Both 1 and 2
(d) Neither 1/mor 2

100. What is.the differentiable coefficient of
fix)atx =37
(a) A
(b): 2
() -1

"

101. Consider the following statements .
1. f(2 + 0) does not exist.
2, T(2 - 0) does not exist.

Which of the above statements is/are
carrect 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

R
102, What is ]‘Ir{mﬂx}ﬂﬂ equal 10 7
0

(a) Ind

by ~In2

(c) 0

(d) None of the above

(Contd.)
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For the next three (03) items that follow :

The general m]uuun of the di
(x* + x + Ddy + (y? +y
(x +y+ 1) =A(l + Bx + Cy + Dxy) where B,
C and D arc constants and A is parameter.

103. What is B equal 1o 7
(a) -I :
S
(c) 2
(d) None of the above

104, What 15 C equal to ?
(a) 1
(b) -1
(e) 2
(d) None of the above

105. What is D equal to ?
(a) -1
(b) 1

{c) <2
);li/]:innc: of the above

106. Consider the following statements :

1. The function f(x) = sin x decrcases
on the interval (0, n/2).

2. The function f{x) = cos x increases
on the interval (0, =/2). _

Which of the above statements.is/are

correct 7

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Meither | nor 2

107. What is the number of arbitrary constants
in the wcular solution of differential
equation.of third order ?

(a) O
(bl
(e) 2
(d) 3

108. What is the equation of a curve passing
through (0, 1) and whose differential

equation 15 given by dy = y tan x dx ?
(8) y=cos x
(b) v =sin x

j;}/v=5&=x
Y = cosec X

www.sakshieduc%ﬂon.com

109. Consider the following statemenis in

lggﬁﬂﬂ%ﬁﬂ’banon corfespect of the differential equation

d?y dy

dﬁz + COS [ s ] 0:

1. The degree of the differential equation
is not defined.

2. The order of the differential equation
is 2.

Which of the above statements isfare
correcl 7

(a) 1 only

; 2 only

(c) Both 1 and"2
(d) Neither 1 nor 2

110. What 15 the cquation of parabola whose
is at (0, 0) and focus is at (0, =2) ?

*8x =0
(b)Y - 8x = 0
c) x*+8y=10
(d) x*-8y=20

For the next four (04) items that follow :
Number X is randomly selected from the sel
of odd pumbers and Y is randomly selected
from the set of even numbers of the set
1,2,3, 4,56, 7. Let Z= (X + Y).
111. What is P(Z = 5) equal to ?

(a) 1/2

(b) 1/3

A€ 1/4
(d}y 1/6

112. What is P(Z =
(a) O
(b) 1/2
(€ 1/3
(d) 1/5

10) equal to 7

113. What is P(Z > 11) equal to ?
(a) 0
by 1/4
(c) 1/6
(d) 1/12
(Contd.)



114, What is P(Z is the product of two prime
numbers) equal to ?

(8 O

(c) 1/4
(d) None of the above

For the next three (03) items that follow :

The number of telephone calls received in 245
successive one minute intervals at an exchange
is given below in the following frequency

distribution.

Number of
calls 011|123 |4|5]|6]|7

Frequency |14 21125|43(51(40/39)12

115. What is the mean of the distribution ?
(a) 3.76
(b) 3.84
(c) 3.96
4,05

116. What is the median of the distribution ?
(a) 3.5
(b) 4.
: 4.5
) 5

117. What 15 the mode of the distribution ?
(a) 3
(b) 4
{c) 5

K

For the pext three (03) items that follow :

www.sakshieducatjon.com

¢ mean and standard deviation of 100 items
are 50, 5 and that of 150 items arc 40, 6
respectively,
118. What is the combined mean of all
250 1tems ?
(a) 43
(b) 44
(c) 45
(d) 46

119. What is the combined standard deviation
of all 250 items.?

(a) 7.1
(h) 74
@
)T

120, What is the vanance of all the 250 items ?

f‘(aa)—"'Si]-ﬁ
(b) 53.3
(c) 55.6

(d) 593
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